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M NI=
=t
=2t El = &x =4 S22 2 El = Gx =34 S22+
15 0 0 0| Ar2tbl oy M| 10,890,000| 10,890,000 0
16 0 0 0| Aretbl 2| 22722 1,680,000| 1,680,000 0
17 0 0 0| Areit JNE=Te] %;gﬁ%“% 2.610,000] 2,610,000 0
18 0 0 0| Areitl JNE=Te] ﬁgjﬁ%x'% 2.682,000| 2,682,000 0
19 0 0 0| Attt ArRiH| negEE 520,000 520,000 0
20 0 0 0| Areit JNE=Te] ﬂgglﬁ'm' 250,000 250,000 0
B EEpE

21 0 0 0| Artbl et Tt 400,000]  2,500,000] 2,100,000
2 0 0 o| JEIBT & I BulEl = 1 gy 1,494,202 1,400,010 0
23 0 0 R e e 650.987| 650,987 0
Higl 8t 160,944,989 | 164,806,989 3,862,000 e 160,044,989 | 164,806,989| 3,862,000
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